CocTaBneHune ypaBHEeHUMU
OBP



Kakue n3 peakuumn ABnsrOTCA
OKUCIUTEeNbHO-BOCCTAaHOBUTESIbHLIMN?
YKaxute oKucrnvtenb n BOCCTaHOBUTESb

1 BapuaHT e 2 BapmaHT
e C+0 =CO » NaOH + HCI = NaCl + H,0
2 2

e CH,=C+2H
+ SO, + H,0 = H,SO, : 2

* Cu(OH), =CuO +H,0
. 2Fe203+3C =4Fe+3002

Fe,O, + 2Al = ALO, + 2Fe
+ CuO+H,S=CuS+H,0



e 1 BapuaHTt
CO + 020 — C+402-2
C?-4e = C** - ok-ue, B-nb
0% + 2e = 02 - B-ue, OK-Nnb
2Fe,**0,+3C%=4Fe’ +3C*0,
C? - 4e = C**- ok-ue, B-nb
Fe*3 +3e = Fe’-B-ue, ok-nb

2 BapuaHT
C*H,"=C%+2H)°
C*-4e = C’- ok-ue, B-nb
H*+ 1e = H® - B-ue, ok-nb
Fe,"0, + 2AI° = Al "0, + 2Fe°
Al° -3e =Al*® - OK-Ue, B-INb
Fe** + 3e = Fe’ - B-ue, OK-Inb



2Fe,0,+3C° = Fe’+ C*O,

C? - 4e =C*- ok-ue, B-nb
Fe*? + 3e = Fe’- B-ue, ok-nb
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C* +6 - 4e = 6C°
202-22e=0, 24



Fe® - 3e = Fe*® - ok-ue, B-nb
O, + 4e = 20 - B-ue, Ok-
nb



PaccTtaBbTe KO3(hdOULNEHTDI
MeTOAOM 3NeKTPOHHOro banaHca

*Zn+ HCl = ZnCl, + H,
» Cu + HNO, = Cu(NO,), + NO, + H,0
+ Al+0,=AL0O,
+P+0,=P,0,



[lomaluHee 3agaHue

e §43

 Pab. tetp.: Ctp. 162-163, ynp. 12
ynp. 13(a-B)
ynp. 13



